

$$\begin{aligned} \text{(ii)} \quad & \frac{x+r}{r_n^r + r_{n+1}^r - \lambda n + r} = \frac{r_n^r + r_{n+1}^r - \lambda n + r}{r_n^r - r_{n+1}^r} \left| \frac{x-1}{r_n^r + \alpha n - r} \right. \\ & \qquad \qquad \qquad \xrightarrow{\text{cross}} n' + \alpha n - r = 0 \rightarrow (n-1)(n+4) = 0 \\ & \qquad \qquad \qquad x = \frac{1}{4}, n = -\frac{4}{1} = -r \\ & \qquad \qquad \qquad r_n^r + r_{n+1}^r - \lambda n + r \neq 0 \\ & \qquad \qquad \qquad \Rightarrow x \neq 1, \frac{1}{4}, -r \Rightarrow D_f = R - \left\{ 1, \frac{1}{4}, -r \right\} \end{aligned}$$

$$\omega_1) y = \frac{x+r}{x^r - rx^r + r - 1} \rightarrow x^r - rx^r + r - 1 \neq 0$$

$$\omega_2) y = \sqrt{\frac{x+r}{x^r - rx^r + r - 1}} \rightarrow \frac{x+r}{x^r - rx^r + r - 1} \gg 0 \rightarrow$$

$$\frac{x+r}{(n-1)(n^r - n + 1)} \gg 0 \quad \frac{-r}{+ \phi - \frac{1}{f} +}$$

$$\Rightarrow \boxed{D_f = (-\infty, -r] \cup (1, +\infty)}$$

$$\begin{aligned} & \frac{x^r - rx^r + r - 1}{x^r - n^r} \Big| \frac{n-1}{n^r - n + 1} \quad n-1 \text{ غير صفر} \\ & \frac{-x^r + rx^{r-1}}{-n^r + 1} \quad \rightarrow D = 1 - \varepsilon(1)(1) : -r \Rightarrow + \text{ صفر} \\ & \frac{n-1}{n-1} \quad \boxed{D_f = \mathbb{R} - \{1\}} \end{aligned}$$

$$y = \frac{r}{x^r - \omega |x-1| - rn + \omega} \rightarrow x^r - \omega |x-1| - rn + \omega \neq 0 \rightarrow x^r - \omega n + \omega - rn + \omega \neq 0$$

$$x^r - rn + \omega \neq 0 \rightarrow (n-r)(n-\omega) \begin{cases} n=r \\ n=\omega \end{cases}$$

$$x^r + \omega n - \omega - rn + \omega \neq 0$$

$$x^r + rn \neq 0 \rightarrow n(n+r) \begin{cases} n=0 \\ n=-r \end{cases}$$

$$\boxed{D_f = \mathbb{R} - \{r, \omega, 0, -r\}}$$

$$\begin{aligned} \text{iii) } y &= \frac{x+r}{|x+r| - |x+r|} \rightarrow |x+r| - |x+r| \neq 0 \rightarrow |x+r| \neq |x+r| \xrightarrow{\text{Chose}} x+r \neq x+r \rightarrow x+r \neq x+r \\ &\rightarrow x-r-1 \neq 0 \xrightarrow{\text{Chose}} x-r-1 \neq 0 \rightarrow (x-r)(x+r) \neq 0 \begin{cases} x=r \\ x=-\frac{r}{r} \end{cases} \\ \text{iv) } \sqrt{|x+r| - |x+r|} &\rightarrow |x+r| - |x+r| \gg 0 \quad \left[D_f = \mathbb{R} - \left\{ -\frac{r}{r}, r \right\} \right] \\ |x+r| &\gg |x+r| \xrightarrow{\text{Chose}} x+r \gg x+r \rightarrow x-r-1 \gg 0 \\ &\rightarrow (x-r)(x+r) \gg 0 \quad \begin{cases} x=r \\ x=-\frac{r}{r} \end{cases} \quad \left[D_f = (-\infty, -\frac{r}{r}] \cup [r, +\infty) \right] \end{aligned}$$

$$\text{ii) } y = \log_r(1 - \log_r^n) \rightarrow 1 - \log_r^n > 0 \rightarrow \log_r^n \{ \begin{matrix} 1 \rightarrow n < r \\ \downarrow \\ n > 0 \end{matrix} \} \xrightarrow{n} \boxed{D_f = (0, r)}$$

$$f(n) = \sqrt{\log_{10} \log_{10}^{(n-1)}} \rightarrow \log_{10} \log_{10}^{(n-1)} > 0 \rightarrow \log_{10}^{(n-1)} > 0 \rightarrow \begin{cases} n-1 > 1 \rightarrow n > 2 \Rightarrow n > 1 \text{ (I)} \\ n-1 > 0 \rightarrow n > 1 \rightarrow n > \frac{1}{1} \text{ (II)} \end{cases}$$

$$\log_{10}^{(n-1)} \leq 1 \rightarrow n-1 \leq 10 \rightarrow n \leq 11 \rightarrow n \leq 12 \text{ (III)}$$

$$\textcircled{\text{I}} \cap \textcircled{\text{II}} \cap \textcircled{\text{III}} \rightarrow D_f = (1, 12]$$

6

و) $y = \log(r \cos n + 1) \rightarrow r \cos n + 1 > 0 \rightarrow r \cos n > -1 \rightarrow \cos n > -\frac{1}{r}$

$$D_f = (r k \pi - \frac{r \pi}{r}, r k \pi + \frac{r \pi}{r})$$

ب) $y = \sqrt{\log \frac{n-1}{n+1}} \rightarrow \log \frac{n-1}{n+1} > 0 \rightarrow \frac{n-1}{n+1} > 1 \rightarrow \frac{n-1}{n+1} - 1 > 0 \rightarrow \frac{n-1-n-1}{n+1} > 0 \Rightarrow \frac{-2}{n+1} > 0$

$$\frac{-2}{n+1} > 0 \rightarrow n < -1 \text{ (I)}$$

$$\frac{n-1}{n+1} > 0 \rightarrow \frac{-1}{+ \infty - 1 +} \rightarrow (-\infty, -1) \cup (1, +\infty) \text{ (II)}$$

$$\textcircled{\text{I}} \cap \textcircled{\text{II}} \rightarrow D_f = (-\infty, -1)$$

7

$f(n) = \sqrt{(a+r)x^2 + an + b}$ $\xrightarrow{\text{مميزا، زير ايسال، راسم}} a+r=0 \rightarrow a=-r$

$D_f = \mathbb{R}$

$$an+b > 0 \rightarrow -rn+b > 0 \xrightarrow{x=r} -r(r)+b=0$$

$$b=-4$$

8

$f(n) = \sqrt{x^2 + 2n + 2 - m^2} \rightarrow x^2 + 2n + 2 - m^2 > 0$ $\text{لانه مربعه اعداد صحيحه} \Delta = 0 \Leftrightarrow a > 0, \Delta = 0$

$$\Delta = b^2 - 4ac = 4 - 4(1)(2-m^2) = 4 - 8 + 4m^2 = 0 \Rightarrow -4 + 4m^2 = 0 \Rightarrow m^2 = 1 \Rightarrow m = \pm 1$$

$x = m$ $\text{اختلاف ايسال و غير ايسال}$

9

$f(n) = \frac{\sqrt{4-n^2}}{[n] + [-n] + 1}$

$$4-n^2 > 0 \rightarrow n^2 < 4 \rightarrow -2 < n < 2 \text{ (I)}$$

$$[n] + [-n] + 1 \neq 0 \rightarrow [n] + [-n] \neq -1 \rightarrow n \in \mathbb{Z} \text{ (II)}$$

$$\textcircled{\text{I}} \cap \textcircled{\text{II}} \rightarrow D_f = \{-2, -1, 0, 1, 2\} \rightarrow \text{عدد صحيح}$$

$y = [n] + [-n]$

10